
 

1. Evaluate 
a. 4ଶ 
b. 3(5ଶ) 
c. 2(13ଶ + 16ଶ) 
d. 17ଶ − 16ଷ 
e. 12଴ 
f. 6ିଶ 
g. (−28)ିଵ 

h. ቀଶ
ଷ
ቁ
ିଶ

 

i. ቀ
ସ

ଷ
ቁ
ଶ
+ ቀ

ଶ

ଷ
ቁ
ଶ
 

j. 
(ିଶ)ళ

(ିଶ)య
 

k. 3ଵ଺ ÷ 3଻ 

2. If 𝑥 = 4 and 𝑦 = 3, find 
a. 𝑥ସ 
b. 𝑦௫ 

3. Simplify 
a. 3ଶ × 3ସ 
b. (4ଶ)(4଻) 
c. (4ଶ)ଷ 
d. 5଼ ÷ 5ହ 
e. (𝑥௔)൫𝑥௕൯ 

4. Simplify 
a. 2𝑥ଶ(3𝑥) 
b. 𝑥ସ(−3𝑥ଶ) 
c. 𝑎𝑏ଶ × 𝑎ଶ𝑏 
d. (−2𝑎ଷ𝑏)(2𝑎𝑏ଷ) 
e. (−4𝑎𝑏ସ)(−3𝑎𝑏) 

f. (3𝑏ଶ)(2𝑎𝑏𝑐)(−𝑐) 

g. ଶଵ௫మ௬షర

ି଻௫ఱ௬షమ
 

h. ൫ଶ௫మ௬൯(ି଺௫௬)

ିଷ௫య௬
 

5. Convert to scientific notation 
a. 6784563.915 
b. 0.0000112 
c. 5502.643 

6. Convert to decimal notation 
a. 3.92 × 10ସ 
b. 1.02 × 10ିଷ 

 


